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2. OF I™8A sinx, cosx, tanx o] gF= 2|2 ofoizh

Ehsinx =
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@ sin0° = cos0° = tan0°

© sin45° = cos45° = tan45°
© sin 90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

© sin0° = cos 90° = tan 90°
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@D 39°

o] TE Hlsinx = 0.6691 & o, x o] 727
2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
471° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
® 40° B 41° @ 492° B) 45°



o2 1384 /BAC = 90°0°]1,
BCLAHO|t}, /CAH = x&t & 0, tanx
o] g2 atolet
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7. sin(90°-A) = 3 A o, tanA O] 27 (F, 0°<A <90°)
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sin 0° = cos 0° = tan 0°
sin 45° = cos45° = tan45°
sin 90° = cos 90° = tan 90°
sin 90° = cos 0° = tan 45°

sin 0° = cos 90° = tan 90°
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BC € 9, tanA &

% ABC o tisiA] AB = g
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11. A+B=90° (%, A>0°B>0°)< o, ot
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@ cos(90°—A) =sinA

® sinA+cosB=1

@ sin?A+cos2A =1
inA
® tanA = e

@ tanA+tanB =1
T cos A
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12. oS 129 AABC oA

@D 6.82

AF7}

(Af2tulol #)
z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
? 6.947 3 7.071 @ 7.193

3 7.314
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13. sin3x= A uff, tandx 9] F-S otk (H, 0°<x <30°)
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15. o I9e4 /BAC = 90°, BC L AH ©]1 /HAC = x 2 & o,
tanx o] gk F-stoet.




16. o3 2o A4Ee dHo] ik gl o5
@ 1] 7o)} 10 91 BRIt} BAZ| BC ©| 22 B 2 o},
(AED = x & o], tan x 9] 2?2
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17. ohg 782 o185k tan15° o] G FoHH?
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18. t©hg T4 AABC 9} ADBC = 72+ /BAC = /BCD = 90° ¢l
77y o], /DBC = 30°, /ACB = 45°, CD = 4cm 4
AABC 9] Yo]=? ’

@ 10 cm? @ 1lem? @ 12cm?

@ 13cm? B 14cm?2
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the O P} Zro] A AM ¢o] OV} x =3} A
o|F= Zte] A7) & a2} 5k, y=—3x+4
A4 m o] LI} x 3} o] L Zhe] 2

71 bet & |, tana + tanb 9] FL= 5t
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20. o 22 FA 4V3x— 4y + 5 =0 I x 2 Fo] W} o] F=
7Yo] A7]5 o 2t E W, tane 2 3H Fotoiet
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23.

V/(sinA + cosA)? + /(cos A —sin A)?
A <45°)

@ 2cosA

@ 1 B 2

@ 2sinA



24. tan(2A -30°) = V3 € @, V2(sin A + cos A) — 2 9] ZHS F35}oiz2t
(2 0°<A<90°)
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25.

oS oA 13a+13¢ & T
Shofzf,

b = sin cos
74° 0.96 0.28
75° 0.96 0.26
76° 0,97 0.24

€ 13a+13c =



